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Answey Qs yeou Can onm the co\\eWi'fy Ques’((ens ¥

Q]_) a-The Bi‘oolc\‘r jwne,hoh transicter is a three - texminal device.

Name Ehe three Ferminals.

—Which is fhe Laryest of He three transistor curvents.

_Define Byc and X dc °
- Determine Bic and &y, for a transislor where Tg - fooun 21 =5mh

-What is the Vo[to:ge ?ain of a transistor amlol,'Pier that has an
Outf»ut of fovelt ¥rms and an inFut of 250 mv Yms ?
£-A Eransistor Connected as an a transistor Amplifier that has

an Yo =255 .1fF Re is {5005t ,Whal is FThe \lo\to:je 3a'\n?
9- A base cucrenl of 50uA Is C\FPl\'ul Yo Yhe
 transicler in Fij(ﬂ) and « \lc:\ta\ye of 5 velt

is dvropped across R - Determine s
the Byc of rhe transister. _’:_VBB
h- Calculdte " Por the transister in Fig (4)- vL
Q=2)-=_l_— What is the Yelal({crlshilb of o<dC and BAC-

li- ‘De’(ermine'[B »Le 1 X e » Veg and Icl

Veg in Fhe circuil shewn in Fig(2)-
The transisTor has @ Byo = foe

o oo I

Q3)a- Define Q point. TRy \G 't_—:V
__N__)?_;Wkat is the main aclvanﬁi?e Vg L SIRAA L %:%;lct
and ol"saa[vawf'oje of the base = Vo =
bi as method ? s lT—E
C-"The base-biased cireal in ‘mlvmw
E Fig(2)

F.’j@) iS Su\jecteo( to ean incyease
See page(@)




fage (2)
in junclien te'mPQra‘tuTe From 25°% 1z 35% .
If Byc =400 of 25°C and eyuaL 150 af75¢C,
debermine Fhe percent c)\anje in Q-point
values (Tc and Ve g) over Yhe tﬁmff"“t“‘"
fange. Nejled' anj Chaﬂje in Ve and
the effects of any Lea Kaje Curyrent. The
transistoY i Silicom -

Qy) a-What is the main dfscwlvanfqye of

emitley \ias P

_‘t;'W'hat ave two C\olvanfcges of \J\élte\ge— dwider bias ?
c- I a transister has a dc beta of 190 and its emitter
resister is { kS ,What isthe dC npul yesistance af Yhe base ¢

d- Find Ic and Veg in Fig(a), Where HOV T‘Vcc
Bac =100 For the Silicen tyansistey. Re
SQ‘L— Determine the Ye of « transistor K %‘"Kﬂ ke
that is oPerafi‘nj with a dC emitter
curvent of 2mA.
_k__: F.’sLS) Shows @ Comme‘r‘l—emiﬁe\* R;%‘S.ék-‘h Re
ampli fier with Veltage —divider bias 5605,
and Ceupling Caf?aeifors, Cy andQ,
on the in/aut and ou\’(au'( and a bjFaSS I -
i &)

CAPac}fcr Cz from emilter 1 erowv\o‘«
Dyaw the DC-e‘iu‘wa{ev\t Cireui GF
Fhis Commen—emitter Ampli Fier
whieth 15 ghown in P\jL’S) and
Fhan Qna\.jf)e U 16 wind

Rin (bese) » Vg ;VE 3 I‘E)

Ve Q’Y\J Veg -

_Q_'_J(GGO\ Luck \
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